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1 Introduction

In RAN4#86bis meeting, testing of ACS and IBB was discussed in [1] in which the following proposal 1 and 2 were agreed. Companies were encouraged to share their views on proposal 3. Other options are not precluded.
	Proposal 1: ACS and IBB are tested on both - and -polarizations sequentially.

Proposal 2: For testing on each polarization the levels of the wanted signal and the interferer are reduced by 3dB.
Proposal 3: RAN4 endorses either option 1 or 2 below:

Option 1: The UE needs to pass the test on both polarizations to fulfill the requirement.

Option 2: The UE needs to pass the test on only one of the polarizations to fulfill the requirement.


In this paper we shared our opinions on this point.
2 Discussion
Previously, many contributions have pointed out that in FR2 the channel condition is difficult to support spatial MIMO and polarized MIMO would be an alternative method to achieve higher throughput.
Observation 1: Polarized MIMO would be an important way of achieving higher throughput.
Theoretically, UE will face interference from both polarization in each polarized antenna. However, in practice the interference of vertical to horizontal or horizontal to vertical is much smaller compared to the same polarization interference.
Observation 2: Interference with same polarization is much higher than the cross polarized interference.
In [2] it is pointed out that testing of vertical and horizontal polarization at the same time through OTA is not desired from testing point of view, thus two polarization need to be separately tested.

In order to achieve higher throughput, polarized MIMO would be used in some conditions and therefore UE should have the ability to suppress polarized adjacent channel interference and in-band blocking interference. In other words, UE needs to pass the test on both polarizations to fulfil the requirements.
Proposal: UE needs to pass the test on both polarizations to fulfil the requirement.
3 Conclusion

Observation 1: Polarized MIMO would be an important way of achieving higher throughput.
Observation 2: Interference with same polarization is much higher than the cross polarized interference.
Proposal: UE needs to pass the test on both polarizations to fulfil the requirement.
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